= A
A & O & A B Ml M
20199 & 20iat LS 23Rt
2N 2aFAL
B 2QUOHNNBENS
el RSN 2E L A CERED
= - = s
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
SR o 81,696,990 80,111,872 1,585,118
= 48,196,682
= 6,340,000
2l 2,473,199
< 24,687,109
SR RMAMARNEEDS 74,040,574 76,021,456 1,980,882
= 44,346,682
= 4,900,000
Jl 2,473,199
S 22,320,693
SEHIIM 2E ¥ &8s 2,142,212 1,604,470 537,742
= 356,898
S 1,785,314
SEIM dsAES 700,600 555,600 145,000
308 XXM S0l ™ 700,600 555,600 145,000
01 X EHHBLEES 700,600 555,600 145,000
OREEsM dSXNBS(BESKK, =) 442,200
ORE=23M SHEMN & X 113,400
OREEsM dsXdS(EREH) 120,000
OZeZaEz AFUE 10004 I8 A X 25,000
NA2sH (28 M)0s M =y 412,200 274,200 138,000
308 XXM SO0l & 412,200 274,200 138,000
01 XM BaE2ES 412,200 274,200 138,000
ONS2stsL 28 s 149,200
OXg=zazmd &8s X2 110,000
QA=A 20IE 22533 Fols243 25,000
OOt=At H2dd =2 Chel A 15,000
ODt= AL S7UA =2 CHel A 15,000
OZANs - M&UA 2= CHel A 20,000
OJIXNAIECZI] RUAZ I8 X882 & 75,000
OSstAt =28 Z&UH & SEUM XA (=
&) 3,000
CEHEIM FEEE 416,000 6,300 409,700
307 giztol & 6,000 6,300 A 300
04 QIZHHAALE 2 = 6,000 6,300 A 300
OSE23M BE3 X (0&EY) 6,000
308 XXM SO0l ™ 10,000 0 10,000
01 UAXESHHBLEES 10,000 0 10,000
OdatsES =0l &dl + 10,000
403 XM SA=01H 400,000 0 400,000
01 HASHH =R E 400,000 0 400,000
O2dlts HE=F M= 2HE 300,000




2N
X ZH -
L= B

el

10 A0 MO

= ot

09 o ton

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O8Felddae &40 252 AHE 100,000
PHEHERSIM drus2 A (AZXE) 416,000 539,500 A 123,500
= 320,000
< 96,000
403 MtXISHHE X201 E 416,000 539,500 A 123,500
= 320,000
< 96,000
01 AXSHMA=2EE 416,000 539,500 A 123,500
OFREEsM dxusa A8 416,000
= 320,000
< 96,000
fE=2stM 2ULHE € JIEs 135,000 135,000 0
207 Ao H] 135,000 135,000 0
01 2284 135,000 135,000 0
OREEaM 2LIHE L IS0 &E 2H10%) 135,000
FEEM drus2 2 245AHY 53,502 64,960 A 11,458
= 36,898
S 16,604
308 AHAIEHHSOIA 53,502 64,960 A 11,458
= 36,898
< 16,604
01 HIXNHHNBNEES 53,502 64,960 A 11,458
SEEIM drus2 243 ALY 53,502
= 36,898
= 16,604
FEEM NE & A AR 8,910 28,910 220,000
207 A O] 8,910 8,910 0
01 289 8,910 8,910 0
ORY=aM =5 XN& B AR (MAE2ZH
0%) 8,910
NE23M 2&E 22 41,734,297 44,056, 142 AN2,321,845
= 26,168,784
J| 1,045,000
< 14,520,513
HEANE ESFH (AMZXE) 1,530,000 1,710,000 A 180,000
= 1,020,000
< 510,000
403 XM SA=0l& 1,530,000 1,710,000 A 180,000
= 1,020,000
< 510,000
01 XM A=2EE 1,530,000 1,710,000 A 180,000
O ESAEE =T H| 1,530,000
= 1,020,000
< 510,000




M 23R4
B 2QUOHNNBENS
& XNEES3M E&2e (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
NLESAE B 2,178,000 820,000 1,358,000
403 UHXISHHSA=0l& 2,178,000 820,000 1,358,000
01 XM= E L 2,178,000 820,000 1,358,000
OHEBL LS HSAZE JHIAL (AR
) 150,000
OFZFA NS SRAAY 215,000
O dsSME ExFHl 80,000
OSSiA HEAE FHBL(BFSHA 20E
S A F) 800,000
O&E AL ANIEY I 200,000
OEF AL LIstd™ HHl 200,000
O&IEAL =8 HH| 53,000
OZaA =8 Hl 100,000
OZ AL =81 HHl 100,000
O=G At BHY =& FH 180,000
OM&E MZAF =B EHI| 100,000
SR M2l KA 27,500 27,500 0
= 27,500
308 XX EHHSOIA 27,500 27,500 0
= 27,500
01 HXNHHNBHELS 27,500 27,500 0
O=JIZatM XY 2L 222 27,500
= 27,500
SESANES EHl 200,000 225,000 A 25,000
403 XM SA=0l& 200,000 225,000 A 25,000
01 X SHMA=E X 200,000 225,000 A 25,000
Os&gAN&E2 I 200,000
SAHSSY QB L S2EXNE I 50,000 30,000 20,000
403 MtXISHH S0l & 50,000 30,000 20,000
01 *XSHMA=2EE 50,000 30,000 20,000
OZXNZE=Zs M etifer & S22 HX & HHl 50,000
ZNNZSSN L SS25 2430 N 28,801,489 32,675,000 ~3,873,511
= 23,694,050
= 5,107,439
403 A X EHS =0l A 28,801,489 32,675,000 A 3,873,511
= 23,694,050
< 5,107,439
01 X SHHA2E= 28,801,489 32,675,000 A 3,873,511
OZNXNEFE3M 2+=FHl 28,643,239
= 23,588,550
< 5,054,689
O=JNE SEZ23M 2+=FH| 158,250




M 23R4
M PHFUAMATEETS
& XNEES3M E&2e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 105,500
= 52,750
2P 2 64,800 45,000 19,800
201 £B-2d| 64,800 45,000 19,800
01 At 22l 64,800 45,000 19,800
OS2 MAZE 2 (0l &2 10%) 64,800
% OI0IXI HIIAY 1,195,157 2,257,142 A 1,061,985
= 1,059,000
< 136,157
403 UtXISHH S0l & 1,195,157 2,257,142 A 1,061,985
= 1,059,000
< 136,157
01 HIXSHMA2EE 1,195,157 2,257,142 A 1,061,985
OL% OI0IXl &I AHY 1,195,157
= 1,059,000
< 136,157
HSAE ETHALAE SXNES 241,101 120,000 121,101
= 160,734
= 80,367
308 XtXIEHH SOl A 241,101 120,000 121,101
= 160,734
< 80,367
01 X HHILEES 241,101 120,000 121,101
OESAHE ETHAIAE |RAE= 241,101
= 160,734
< 80,367
2o SSAHY 2,090,000 2,000,000 90,000
J| 1,045,000
< 1,045,000
307 glz2tol & 2,090,000 2,000,000 90,000
J| 1,045,000
< 1,045,000
02 It HAHE X 2,090,000 2,000,000 90,000
OFstMHEssSAtLY 2,090,000
J| 1,045,000
< 1,045,000
EXNE2M E=FH| 4,895,000 3,130,000 1,765,000
403 MtXISHH S0l & 4,895,000 3,130,000 1,765,000
01 X SHMA=2E X 4,895,000 3,130,000 1,765,000
OXNZE=Z3M E==3tl 3,700,000
OFutern =HFH| 150,000
OEH& (OIEHZ) S| ALY 150,000
O&F=F=uw w7 A4 dX =Xk 2 F
HI At 250,000




EX: 23R4
B 2QUOHNNBENS
e NS =22 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O A Xl AIYE A 25,000
OS YA 22lAb = 150,000
OREAN 2N &L 23 M MHEHAE 130,000
ODNZ2HAX =AY 160,000
ORA 22N S =L DAIE M= 180,000
CXE 23t 2K E S &3 100,000 100,000 0
308 XX EH SO0l A 100,000 100,000 0
01 AIKSHHEMNEX= 100,000 100,000 0
OEXNAE 23t 2IHXdE &4 100,000
HEAE YUTHAIAE A= (AZLHE) 311,250 630,000 A 318,750
= 207,500
& 103,750
403 XX SRS K 20| & 311,250 630,000 A 318,750
= 207,500
& 103,750
01 MXHHE2E =X 311,250 630,000 A 318,750
OXSAE S THAIAE 2= 311,250
= 207,500
= 103,750
KNEEEAIE 212 B 50,000 0 50,000
403 XX SHS K20 & 50,000 0 50,000
01 XS A=2E X 50,000 0 50,000
OXNYEEAE 212 B 50,000
ANe23EY 115,000 72,000 43,000
HADHIE SESA s B 20,000 18,000 2,000
307 2Iz2t0| A 20,000 18,000 2,000
02 QIZFAAAIRE E X 20,000 18,000 2,000
OgADE SH2IAMNIE A 20,000
St o T IAY 29 15,000 54,000 A 39,000
306 52 15,000 54,000 A 39,000
012 15,000 54,000 A 39,000
OY o T IAY 29 15,000
S 2SR EE 80,000 0 80,000
201 et 80,000 0 80,000
01 AP 2t 2] H| 80,000 0 80,000
OXEdAo S22 g=2 &8 80,000
SO AYIHY 2 &= 7,539,766 6,819,477 720,289
= 1,657,000
= 4,900,000
J| 18,400




M 23R4
M PHFUAMATEETS
& 23R A FHY ¢ 28 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 964,366
HSAA Z3 T EEAL 174,000 180,000 A 6,000
= 116,000
< 58,000
308 XXM S0 A 174,000 180,000 26,000
= 116,000
< 58,000
01 AXNSHHBLEES 174,000 180,000 A 6,000
O SLAL 23 S AHY 174,000
= 116,000
< 58,000
NS L IS AL THE B I 20,766 21,477 AVAR|
Il 18,400
< 2,366
308 XXM S0l A 20,766 21,477 AVAR
| 18,400
< 2,366
01 IXNSHHBANEES 20,766 21,477 AVAR
OXtH =z ot QIS AL THE S I 20,766
| 18,400
< 2,366
=2stsot 22 XA St 4,900,000 4,258,000 642,000
s 4,900,000
403 Ut E X201 & 4,900,000 4,258,000 642,000
s 4,900,000
01 XXM A2 £ 4,900,000 4,258,000 642,000
OstE2MILXl OtMAIZB2t S =4 150,000
as 150,000
OUla St AL =HZHIALS 400,000
s 400,000
O=Xx ¢dlge 2Estots 2l 500,000
as 500,000
OO0tAtI 2 0lS 2t& 2 HOAILE &X 300,000
s 300,000
OREA 482 M= 1,150,000
s 1,150,000
Ot Z Al 2334 243t 600,000
s 600,000
OZ4s4 &l 500,000
s 500,000
O=8Al RSN A= 1,000,000
s 1,000,000
Otllshatd gz & =XH&E 24 300,000
s 300,000
S OFs Al 675,000 900,000 £225,000
=2 450,000




2 296D
M PHFUAMATEETS
S SIRM FHNY ¥ BE (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 225,000
308 XXM SO A 675,000 900,000 A 225,000
= 450,000
< 225,000
01 IXNHHBNEES 675,000 900,000 A 225,000
O=Zst M OFH AL 675,000
= 450,000
< 225,000
MMZETH ALY 759,500 630,000 129,500
= 434,000
< 325,500
308 XtXIEHH SOl A 759,500 630,000 129,500
= 434,000
< 325,500
01 AXHHBIYEES 759,500 630,000 129,500
O 23HHALS 759,500
= 434,000
= 325,500
g M3 28 2SALY 511,500 525,000 A 13,500
= 341,000
< 170,500
308 AAIEHHSOIA 511,500 525,000 A 13,500
= 341,000
< 170,500
01 HXNHHNBHELS 511,500 525,000 A 13,500
OZNMNH 23 2SAY 511,500
= 341,000
< 170,500
NAZstRe s A 189,000 150,000 39,000
= 126,000
< 63,000
308 XXM SOl A 189,000 150,000 39,000
= 126,000
= 63,000
01 IXNHHBMNEES 189,000 150,000 39,000
OXNAZstR4 WA 189,000
= 126,000
< 63,000
SHA-Alet A EHE ALY 25,000 50,000 225,000
306 =93 25,000 50,000 A 25,000
01 &3 25,000 50,000 225,000
OUYHI-dlet A AAN 25,000
201949 =25 =23 222 HMEAS 285,000 0 285,000
= 190,000
< 95,000




M 23R4
M SHARMIAMANSES
S SIRM FHNY ¥ BE EEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 285,000 0 285,000
= 190,000
< 95,000
01 HIXNHHBHNEELES 285,000 0 285,000
020198 =223 S22 MEFAY 285,000
= 190,000
< 95,000
S L ALY 2,081,274 2,220,850 A~ 139,576
J| 1,409,799
< 671,475
S A FHA X X S 887,794 825,000 62,794
J| 591,863
< 295,931
308 XXM SO A 887,794 825,000 62,794
J| 591,863
< 295,931
01 AXHHILEES 887,794 825,000 62,794
OSRSEEM & HHIA HHXI 887,794
J| 591,863
< 295,931
S MHHHEXAE 2= 619,820 872,850 A 253,030
J| 510,216
< 109,604
403 A X EHHS =0l A 619,820 872,850 A 253,030
J| 510,216
= 109,604
01 X EHHMA=LE L 619,820 872,850 253,030
O=JMXNZE 2t HHEXAIE X & o 614,345
J| 506,566
< 107,779
O23M HIIANE & SE2MH MHLXAIE
=N 5,475
J| 3,650
< 1,825
EXNEEZM LHAE 2= 200,000 200,000 0
403 Ut SHHSA=0l& 200,000 200,000 0
01 X SHMA2E X 200,000 200,000 0
OEXNEZSM LHAIE 2= 200,000
Z3M EHAIE FA2e XA 373,660 323,000 50,660
J| 307,720
< 65,940
308 XXM SOIA 373,660 323,000 50,660
J| 307,720
< 65,940
01 AXHHBILEES 373,660 323,000 50,660




EX: 23R4
B 2QUOHNNBENS
CHRl: 235 2 ALY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZLESX2M dat2tel S L LA
A A2l 373,660
J| 307,720
o=t 65,940
NAHSA ST & 22 20,398,025 21,147,214 A 749,189
= 16, 164,000
& 4,234,025
ANEYNHENHRSMSHF=E 17,625 12,500 5,125
308 XX EHSOIA 17,625 12,500 5,125
01 AIXSHMENMNEXZ 17,625 12,500 5,125
OMYalier Y HASA SHEX 17,625
NAHRA 2SS ARXS 36,000 39,000 A 3,000
= 24,000
= 12,000
308 XX EHSO|IA 36,000 39,000 A 3,000
= 24,000
& 12,000
01 AIXISHHEMNEX= 36,000 39,000 A 3,000
ONAHSA BEEESE ARIE 36,000
= 24,000
o= 12,000
St=9 A& HAHAKA STHFA 20,000 0 20,000
308 XNXIGHHM SO0l & 20,000 0 20,000
01 IXHHIMNEXZ 20,000 0 20,000
Ost=9 M& HAHSA S =& 20,000
MHSA SE2E(AMZ2NE) 19,316,000 20,035,714 ANT19,714
= 15,672,000
= 3,644,000
403 XX SHHMS K201 A 19,316,000 20,035,714 ANT19,714
= 15,672,000
o 3,644,000
01 AIXSHHMAS2E X 19,316,000 20,035,714 AT19,714
OUHHNSE HHSA B&2elAtY 19,316,000
= 15,672,000
& 3,644,000
NAHSA SZ2UE|(A2HA 608,400 520,000 88,400
= 468,000
& 140,400
308 XX G SO|A 608,400 520,000 88,400
= 468,000
& 140,400
01 AIKSHHEMNEX= 608,400 520,000 88,400
OYHEE HMAHASA 2 & EE 608,400
= 468,000




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| = 740,400
HHEE MASTL SS2el € 2L 400,000 400,000 0
306 ¢ 2 400,000 400,000 0
01 &3 400,000 400,000 0
OHM=H MASL Sefatel € 8L 400,000
M HHSLE XA 30,000 101,303 271,303
Az EHH =4 2 X2 30,000 51,303 A 21,303
307 glz2tol & 30,000 51,303 A21,303
02 It HAMHEE 18,000 39,303 A 21,303
OAZI XIS X 1= (0l AFE 2H10%) 18,000
04 QIZFHALAIH B & 12,000 12,000 0
O3 MIIsEsl HSHEAlS 12,000
2otd Y 7,596,000 4,030,000 3,566,000
= 3,850,000
s 1,440,000
< 2,306,000
EH(JIS)R LIS SEMNY 4,174,000 2,045,000 2,129,000
= 3,850,000
< 324,000
JssuelIstay 54,000 45,000 9,000
306 43 54,000 45,000 9,000
01 &= 54,000 45,000 9,000
OZFsuw oA2shd (0l &E 2H10%) 54,000
SERUESA HE 3,850,000 2,000,000 1,850,000
= 3,850,000
403 MHXSHHSA=0l& 3,850,000 2,000,000 1,850,000
= 3,850,000
01 HXSHMA2E X 3,850,000 2,000,000 1,850,000
OFERuUEsA A 3,850,000
= 3,850,000
SERUEINE 2Y 270,000 0 270,000
306 £ 3 270,000 0 270,000
01 &3 270,000 0 270,000
ORI IS (0l&HE2010%) 270,000
S, 20 IAM2SEA =24 990,000 1,135,000 A 145,000
s 990,000
AMNEERIITAEZTH (AZRE) 990,000 1,105,000 A 115,000
s 990,000
403 UtXISHE X201 & 990,000 1,105,000 A 115,000
as 990,000




2N
X ZH -
L= B

el

O MO MO

St At
St R
=, B0 SASHEZA &4

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

01 XIS A2 X 990,000 1,105,000 A 115,000
O&2F, 20 YA TAIETH 990,000
Fag 990,000

PRS-l =T N et 1,982,000 350,000 1,632,000

HESHY NI 1,982,000 350,000 1,632,000

403 XX SHHS K20l A 1,982,000 350,000 1,632,000

01 XIS AZ2E X 1,982,000 350,000 1,632,000
OFSFEET HESHY NY9HEAMY 1,982,000

LT NS =" 450,000 500,000 A 50,000
Fag 450,000

g e S N R=1y 450,000 500,000 A 50,000
= 450,000

403 XX SHHS K20l & 450,000 500,000 A 50,000
g 450,000

01 MXHHE2BE =X 450,000 500,000 A 50,000
OO0l MTHAAM LIctAlE MES2F ZEAY 450,000
g 450,000

HHSAHAY (SR 60,416 60,416 0

J2ZH (23840 60,416 60,416 0

28| (2384t 60,416 60,416 0

201 et 27,360 27,360 0

01 AR 2t2l ] 27,360 27,360 0
ORsKAat0 AFR2 e d] (0l A& 2H10%) 27,360

202 04| 26,928 26,928 0

01 2L HI 26,928 26,928 0
O23 KAt ZLHO I (0l AR 2H10%) 26,928

203 € R F=&d| 6,128 6,128 0

03 AIEH =X 2 F X Y| 2,708 2,708 0
O3t 60 AMF=RAL2=X (0l AHE 25%) 2,708

04 FEASHELIFFEH| 3,420 3,420 0
O3 Ka BA2EAS =X (0l AHE 25%) 3,420




